United
Bowden Cable System
Enertech InstalIatilondlnstructior:;

Connection at Damper

For use with models BO-RI, BO-BM, BO-ST, BO-Hi, & BO-100

Cable Connection

WIRE (at damper)
RETAINER DAMPER SHAFT
/ 3/8" square. Consult Factory for
other size shafts)
LINKAGE ARM——
Note: Linkage arm location
shown when damper is in the
STAINLESS open position.
STEEL WIRE

J
LA

==

WIRE SLEEVE / WIRE SLEEVE

RETAINER

1.) Make sure linkage arm is in the location shown above (damper will be in full open position).

2.) Slide wire sleeve under wire sleeve retainer leaving approximately 3" of the stainless wire exposed. Make sure
wire sleeve does not extend more than §" beyond the wire sleeve retainer (see drawing).

3.) Slide stainless wire into wire retainer and tighten. Then tighten wire sleeve retainer securing the wire sleeve in
place. Make sure damper remains in open position during this step.

4.) Install damper as needed allowing cable to reach the controller with the fewest turns for optimum operation.
5.) Connect cable to controller, if not already connected (see individual connection details for each controller).
NOTE: Minimize 90 degree bends in cable to one and try to locate controller as close to damper as possible to minimize

play in total system. The more curves in the cable, the less responsive the damper will be to the controller. Wire and casing
between damper and controller should be secured every 4 feet.

ﬂgga“t'f,[ﬂe: DRAWN BY: DATE: REV. DATE:
Architect: cu 9-24-09 3-17-14
Engineer: REV. NO. APPROVED BY: DWG. NO.:
Contractor: 8 BGT E-12




United
Enertech

Bowden Cable System
Installation Instructions
Controllers

WIRE
SLEEVE

#8-32x3/4" BOLT
AND NUT

STAINLESS
STEEL WIRE

Damper in
Opened Position

Vs

MOUNTING
SCREWS

Model BO-300
Controller Installation

1.) Cuta QZ%" hole in ceiling. Install cup using "L" bracket and mounting
screws (mounting screws by others)

2.) Slide stainless wire into wire retainer and tighten. Then tighten the
#8 bolt and nut, securing the wire sleeve in place. Make sure wire

sleeve does not extend more than §" beyond the wire sleeve retainer
(see drawing).

3.) Attach cover to celiing cup with provided screws.

CEILING
CUP J \ Note: BCW (Wire Sleeve & Stainless Steel Wire) must be in as
COVER PLATE CEILING straight line as possible from damper to insure optimum
performance. Wire and casing between damper and controller
ADJUSTMENT KNOB OR should be secured every 4 feet.
FLAT SCREW DRIVER SLOT
Model BO-R Model BO-896 & BO-896-P

Controller Installation

SUBSTRATE
WIRE
#8-32x3/4"  SLEEVE
BOLT AND NUT

WIRE

RETAINER
Damper in
STAINLESS Opened
STEEL WIRE

Position

MOUNTING
SCREWS
(by others)

MOUNTIN(ﬂ
BRACKET

1.) Attach mounting bracket with controller to
desired surface (plenum, ceiling joist, diffuser,
or access panel). (mounting screws by
others).

2.) Slide stainless wire into wire retainer and
tighten.

3.) Then tighten the #8 bolt and nut, securing
the wire sleeve in place. Make sure wire

sleeve does not extend more than §" beyond
the wire sleeve retainer (see drawing).

4) Wire and casing between damper and
controller should be secured every 4 feet.

Controller Installation

STAINLESS
STEEL WIRE. STAINLESS

STEEL WIRE.

#8-32x3/4" #8-32x3/4"

BOLT AND NUT

Damper in Damper in
Opened Opened
Position Position

"C" BRACKET "C" BRACKET
MOUNTING MOUNTING
= SCREWS - SCREWS
9 I—| ] (by others) & = ] (by others)
\ ' SCREW CAP 3" TORX HEAD
TAMPERPROOF
SCREW

1.) Attach "C" bracket with controller to ceiling joist (mounting screws by
others).

2.) Slide stainless wire into wire retainer and tighten.

3.) Then tighten the #8 bolt and nut, securing the wire sleeve in place. Make

sure wire sleeve does not extend more than §" beyond the wire sleeve
retainer (see drawing).

4.) Install screw cap (model BO-896) or torx head tamperproof screw
(model BO-896-P).

5) Wire and casing between damper and controller should be secured every
4 feet.

Job Name:

! DRAWN BY: DATE: REV. DATE:
Location: cLJ 9-25-09 11-27-12
Architect: : -
Engineer: REV. NO. APPROVED BY: DWG. NO.:

tractor: 6 BGT E-13




Bowden Cable System
Installation Instructions
Controllers

STAINLESS

MOUNTING WIRE
SCREWS SLEEVE | STEEL WIRE
(by others)\
WIRE SLEEVE
RETAINER
DRYWALL\
MOUNTING//
BRACKET-
FACE | wire
PLATEN k1 RETAINER
CONTROL-
KNOB \

Note: BCW (Wire Sleeve & Stainless Steel Wire) must be in as
straight line as possible from damper to insure optimum
performance. Wire and casing between damper and controller
should be secured every 4 feet.

Model BO-700

Controller Installation (DAMPER IN OPEN POSITION)

1.) Remove control knob by loosening set screw.
2.) Remove face plate from box.

3.) Connect controller to stud with mounting bracket (mounting screws by
others).

4.) Slide wire sleeve under wire sleeve retainer leaving approximately 2" of
the stainless wire exposed. Make sure wire sleeve does not extend more

than §" beyond the wire sleeve retainer (see drawing).

5.) Slide stainless wire into wire retainer and tighten. Then tighten wire
sleeve retainer securing the wire sleeve in place.

6.) Replace face plate and control knob.

STAINLESS
WIRE STEEL WIRE

SLEEVE
\ WIRE SLEEVE
/ RETAINER

Model BO-702

Controller Installation (DAMPER IN OPEN POSITION)

1.) Remove cover plate from cup.
DRYWALL- S| .
T 2.) Connect controller (cup) to stud (mounting screws by others).
u
D I
© 3.) Attach Controller to cup with rivets.
COVER PLATE
4.) Slide wire sleeve under wire sleeve retainer leaving approximately 2" of
the stainless wire exposed. Make sure wire sleeve does not extend more
Q\ than §" beyond the wire sleeve retainer (see drawing).
| [/
N\ vountine 5.) Slide stainless wire into wire retainer and tighten. Then tighten wire
SCREWS i 1 i i
Note: BCW (Wire Sleeve & Stainless Steel ) sleeve retainer securing the wire sleeve in place.
Wire) must be in as straight line as possible
from damper to insure optimum performance.
Wire and casing between damper and controller 6) Replace cover plate'
should be secured every 4 feet.
MOUNTING Model BO-PL

#8-32x3/4" BOLT

AND NUT—_ |

WIRE
RETAINER—_|

KBRACKET

STAINLESS —
STEEL WIRE

Diffuser & Plenum

by others\

Controller Installation (DAMPER IN OPEN POSITION)

1.) Drill '@ hole in spine of directional diffuser at desired location.

2.) Slide stainless wire into wire retainer and tighten. Then tighten the #8
bolt and nut, securing the wire sleeve in place.

3.) Install controller directly above %"@ hole with mounting bracket
(mounting screws or rivets by others).

Note: BCW (Wire Sleeve & Stainless Steel Wire) must be in as
straight line as possible from damper to insure optimum
performance. Wire and casing between damper and controller

should be sec%red every 4 feet.
Job N_ame: DRAWN BY: DATE: REV. DATE:
Location: cLJ 9-29-09 11-27-12
Architect: : -
Engineer: REV. NO. APPROVED BY: DWG. NO.:
nir T 8 BGT E-14




